€OICT |1k S S8°LYT'IE 000 S8'LYTTE
ITT |10 oy 7T €80'€61 000 7T €80'€61 B
TI IR0 =€ Py TT°€80'€61 00°0 TT°€£80'€61
SOPTT | (e vy — e~y |y (pemey (ove |96981 0070 20°90€'T 000 20°90€'T 85°061'C o
COL00IOKIT | T 7 = 00°000°01 00°000°T 00°000'6 00°0006 |
T0€00T0V 11 [§=0 A~ vy == 00°000°%1 000 00"00S'L 00°005'L 00°005'9
€00T0V 11 |c Fge 00°000'1 ; 0000001 00°00S'8 00"00S'T 00°00S'ST
TOPTT|S oty — e (€ (e 00°00S°92 00°000°ST 00°0009T e 00°000°TT 00°00S°ST
PIT|IE iy 95°+89'9C 20°90€'LT 00°000'92 86°€69'8 85°066'L1 ;
80010111 | 1K=® = [P 00°0 00°0 . 00°0 [
LOOTOTIT | 1R = (512 0008 00°0 ‘ : 0008 .
900T0ITI | (R® = (e 00°TIE'LE 000 00°1T€'LE
SOOTOTTI |7 =" 4JJ e 19°S96'€T 00°0 8°S8p 000 8 S8y SPISY'PT
POOTOTTT [P (KT 00°0£L' 00°0£L'C
€O0T0TTI |5 I $8°08C°C 90°108‘1S€E 1T°T9LEST mw.wmo,wm ‘, 0L"61€°00T W
COOTOTIT | (Re® 1TII1'T 00°12E'L 000 00°12E'L 12°CEV'6
10010111 | (1= 01°90%‘1 €L°620'6 00°STT EL'VI6'S > €8°0C€0T
TOTTI | SfeE? & fep LL'¥06'6S €9°L£9'89€ T1T°LL8'EST Tr09L'YTT 61°S99'VLT
[T |icfy € (enef S LL¥06'6S €9°L£9'89€ 12°LLY'EST T 09LYIT 61°S99'VLT
TT &P P €€°685'98 S9EV6'S8E 1CLL8'6LT ¥°990'901 LLSS9'T61 N
T et SSTLY'6LT S9"EV6'S8E 1C°LL8'6LT ¥°990'901 66"8€L'SSE
: «Tm. <5y

w0 a2 : 10/01/v20T

a2 1¢/t1/veoe

@ ey

/L
M2 o\ /vr/oara

w21 T2 30,

wHD vy ArelSy SR

: youelg



€0010STT | |7 (R o 00°0 00°1L9'0T 00°1L9'9C
10STT | |7 P I 0070 06°LLO'TET oo.oi 00°L0T'8T oc.h.?_f 06'¥81'6¥1
STT|"> ™ 1RNQ SIRTme 00°0 06°LLO'TET 0o 00°LOTST 00°LOT'8T 06'v8T°6H T
10VTT |70 sSimm oy ey 00°0 00°TST'E8 008166 00°2TEHT 00700 T 00°SST'86
1A Al\asaiatis 000 00°TST'E8 008166 00°2TEYT 00°700°ST 00°SS1'86
TR ¥ Ty R 00°0 06°'8TT'1T 00°81€'6 00°6Th'Cy 00°TTT'EE 06°6EELYT
€0S00TOVIT | Im=m |K¥m =y [Prrsey 00°0 81°6VL'TL 000 00°LYT'SL o0Lyzse 81°966'LYT
Z0S00T0FIT | P (@t | 00°0 00°000'9 000000  |o0'0szh . 00°0ST'%
10S00T0F 1T |FEfm or=sy 00°0 00°000'sT 0o 00°000'€L 00°000°€L 00°000'86
SO0TOYIT |IFne? frsey™ Pt — rrey 000 81°6YL'€0T 000000  |00L6rTST 00LerOT 81°9¥2'0ST
IOV 1T |~ Fam =*oy £y _34« 8T°6EL'S6T 00°066'L6 00°L6v'TST 00°L0S'¥S 81°9¥C'0ST
pIC|Fam sy 81°6£L'S6T 0006626 |00L6vTST 00°LOSTS 81°9KT0ST
10112 |5 e & =0 0070001 000058 00°000°01 00°00S'T 00°008°ST
LIT| 1= g3 g3 000001 00°005'8 00"000°0T 00"00S'T 00°00S'ST
121K Py 81°6€L°60T 00065901 00°L6V°T9T 00°£00°05 81°9KL‘S9T
TR fome® (k=D 1S°6LEVTS 00°808'STT 00°926'70C 00°811'68 IS°L6V'ET9
ETITT|SFHm ™ ooy 00°0€8'YT 00°0 ‘ 00°0€8°%T
CTIITT |9 oy SR 9S°9TT'Ly 00°0 95°9TT'Ly
OTTCTT | ¥ 1> &7 ©oTomeh 6T°SLY'SE 000 6C'SLY'8€E
Q0TTT | 1A= Ferym osuiy 00°00S"¥ 000 00005y
SOTTT [1Ra™ s 5°€06'9S 000 75°€06'9S
laRd

vy 7 /L
M o0 /v/oh s

i a2 1¢/c1/vToc

0 a2 : 10/01/p20C

HD vy Arssy JH L : yourrg

37




200P0T1IE|F = vooyo a? Sy — o x 0070 00°00¥‘¥¥C ‘ “wmo‘.m a 00°00€'L9T | 8‘.‘&?& 3N ,%ﬂow,:v
100V0T 1€ |F= s =¥y — e e 00°0 00°008'928'C  |00°0 00°009'€7€' 00°009'€Z€' 00°001°0ST'S
POTIE | S s — oo gy 00°0 00000268 |00°0 00°000S°C 00°0007hST ~ looooogs's
11 |50 GiGepo wwiee 00°0 00100966 |00°0 00°000'¥S' 00000445 00°009'9€6'S
1€ IF@ GREGe 00°0 SPILT'ESSE  [000 €9'LE9'TT6T €9'LEOTI6T 80°608'S95'9
¢ iEao GG ‘ 00°0 sriLrEsss |00 €9'LE'TI6T coLeoTicr | 80°608'S9%'9
100€01€T = mqkn o 0070 00°€€0'C ‘ ‘ 00°€£0'C
€01€T | =P 1K ae 00°0 00€€0T ‘ ‘ 00°€£0'
TOIET = 1R™D (r¥ee « 00°0 €T TOL'BE0'T N - ‘ E1°T0L'8E0'T
T0T1ET|= 1R o pee ‘ 0L"TZE'0¥6 000 ‘ ‘  lovzzsors
1€T |8 (R~ €7 11001 , ‘ P 11001
€T|"e IR ‘ | erIvoor , : €7 117001
£1010S72 |~ 1o = oo 00°565°T 00°S65'T
21010522 | (9@ - M1 (K=K 00°0 00°689'8T . ‘ 00°689'81
01010STT |~ (v - 7.5 ™ (&8 oo (0070 00oLe'st  Jooo 00°TLL'S 00°TLL'S 00°LYT'pE
60010STT |5 (7 — [ |k G2 G017 |00°0 00'7LS 00'tLS
LOOTOSTT |~ 1@ — =r¢ §eéjo 00°0 00°9%9'9 000 ‘ 00°9+9'0 00°959°9 00°Z62'€T
900108TT |~ 1P - S fire 00°0 000000 . ‘ 00°0009 N
S00T0STT | (@ — k9™ sG> |oo0 logozszy 00 00°069'S 00°069°S 06'912'8Y
vt (o a
SOE00T0STT | 11 - 1K™ S 9o 00°0 00'L99'T 00°L99'T
T0€0010STT |7 (v ~ | Foryo 00°0 0v00ST 000t |
| o
vy g /L
*2 a2 : 10/01/v20c 20 : 1¢/c1/vToc R erfuefed s

w3 L (% 34«.« Jﬂdﬂww m;.m«,u!.qm : youelg



00°60¥‘vC

6020101 | sI|e 2y (e 00"60¥'¥C 00°0 00°60%'+C
80C0T0TH |mis¢ = 00'¥8S'T 000 00'+85'C ‘ 00°85'C
COTO0TY |~ =i ., 0066692 000 00°€66'9C 1 00°€66'92
SOTOTOTY|Im~r= K =f 000 00°826'81 00°S66'66 00"028'S 00°SLI'v6 00°LYT'SL
POTOTOT | %€ 1= (o 00°$20'€ 000 00°008'T 000 00"008'T 00°ST8'y
€010T01¥ |~ =P 00°000'6 00°0 00°000°€ 000 00°000'¢ 00"000°'CT
2OT0T0TY | = 00°000°8T 000 000009 00°0 00°000'9 00"000'vT
TOTOTOTH | IS GRFT Ry 00°00S°0€ T 000 00°00S‘€V 00°8¥L'vT 00°TSL'8T 00°2ST'6¥1
T0TOTH | (I SR 00°L6S THT oo.mmu.va., 00°895°0€ 8.&32 ‘. . 00"2€'S9T |
101Y [ IpPT Grfes 00°L6S THT 00°88Z'18T 00°895°0€ 00°0ZL‘0ST < 00°LTET6T
I | Ir= T pefofy € Re(Fe 15°L0T'E61 61°L1T'6TE 00°895°0€ 61°6v9'86T 09°958'16¥
v lir=Fgm .‘ TV°8L8'L6L'S 61°LST'9T6'T 00°895°0€ 61°689'S68'C ‘ 09°L9S'€69'0
€0ETE | - @ fge 0070 78°S8p p8'S8Y ¥8's8p
€1¢| e o Fge 000 8" S8y — ‘ 8°S8p
1810) (074 £ Raii T _7{}0 000 00°0¥9C8T 00079787 000r98T |
0T0TOTIE|IPF™™ [Py 63 <y 000 007000001 00°0 00°000°9¢€ 00"000°9€ 00"000'9€T
60010TI¢€|Feim vy (=2 000 0000007 000 00°000°02 , 0000007 00°000'09
10010T1¢€ i3 =° 000 SP1LS 0T 000 6L 11S'6T 6L 11S'6T ¥2°€80°0S
T0TIE|F o9 oy o7 owite — mrfy 00°0 SYTLS'091 oo.m 6L TST'89€ ﬁ.ﬁﬁ.‘www , vTE€TL'8TS
TIE | oo foltoym o7 ovite 000 SP'1LS 091 00°0 6L°1ST°89¢ 6L 1ST'89€ AL XAR T4
=Ry ‘
€00P0T1E |F= St of oy — s s Fey 0070 00°00%'12€ 000 00°00T°€S 00"001°€S 00"00S'vLE

w0 0  : [0

01/vc0c

Qhad

a2 1¢/c1/veoe

@ ey

v/L
M o\ /v /oara

3

: youelg



I21P I Fam ks oL"TTE 00°0 mm.m:.m.‘ 00°0 STTIT'E 10°SEV'E
0TI | P |mee 00°T6€'L 00°0 00°T6€'L 00°16€'L
6117 |\ 00°000°L 00°0 00"000'€L 00"000'EL
LT T |76 6orsC jroofy 79°65 00°0 29°65¥ 29°65h
Ol T |f&t é~Fgm v0"€€ 000 17995 000 17995 81°665
STTy|=s =P Y9 pEY 000 66115'8 000 6615’8 £9°676'8
128820 A 00°000'€ 000 00°05€°€ 000 00°0S€'€ 00'0s€°
EITY | ity $S8I1€ 000 000z |00 00°0€C SS8YS
SOTI Y|t =cc a.qn_ﬂ‘_ 00°9%9°9 000 00°9¥9'9 00°9+9'9
POTI IV [ .]«} 1K 00°TLL'S 00°0 00°TLL'S 00°TLL'S
0TI TP |1 1R =¥ 00"069'S 000 00"069'S 00"069'S
TLIY |ImeasIm 1R me 00°L0T'8T 000 00°LOT'8T 00°L0T'8T
POT 11| =T o9 o5 o2 00"00S'T€ 00°0 00°008°T€
10T11Ip = S 09°0SL 00°0 09°0SL 09°0SL
111y | o feemm 00°00S‘1€ 00°0 09°0SL 000 09°0SL 09°0ST'TE
011 | SEe “s¥ =% 00°000'% 000 00"000'CT 00°0 00"000°CT 00"000°91
6011 |2 wsfofy £2°029'T 000 €2°029'T £2°029'T
LOTY [ic€1= »sofy e 000 PrrIL vryIL
901 | Fam fFy 00001 000 1L°66V 000 IL66 1L°66S
SOT|S¥h? 7 6L°L88°C 00°0 76°106°C 000 26°106'C IL°68L'S
YOIV | e ST €9°€1S'8 00°0 6T 1TT'E 0070 6T 1TI'E 6 VETT

O a2 : 10/01/v20T

i a2 s 1¢/T1/vCoe

@Eve: /L
M o\/v+/oars

w3: 1

wHD vy ArelSy 6RoTe

: youelg



w‘omommv &P~ 00°L60°TT 000 looss0'€ 000 00"669'€ 00°96L %1
SOTOETY | 1K (R {2 00°€80°LT 000 00°7+0°'L 000 00°vv0°'L 00°LTT'¥T
1020ETh | Fir> 00°506'6Y 00°0 ~ oorssoor 000 00°5£9'91 00"0¥S'99
TOETY | Fam K fon(x® 00°T1L0'€S 000 00"0¥0'62 000 00°070'6C 00°TTT'CTT ]
STT10ETY |0 =0 00°8L6 000 00°8L6
LITOECY |0 =5 00°856'T 000 00°856'T
OTT0ETY | s> Bty 00000 00°0 00°000'% 000007
PI10ECH |"sine Avo g™ 00"000'T 000 00"000'T 00°000'T
1010€TY |Fie™ (=i ‘ 0079076 00°0 ~ ooooost 000 0000061 00'¥90°'€TT )
10€T | Fam o2 mq,?\?ﬂj 00"000°L6 000 000002 000 00°000+T * Jooooo'1e
5ddl et G alivacsvae willivale 00°TLO'TTT 000 - 00°0v0'€S 000 00°0¥0'€S 00°TTT'S9C
LOOYOT T | so™ (s ¥y jnge ‘ 00005y 00°0 00°00S'€Y
€O0V0ICTH | Fam oo ooqf =iy — Foiy geftiy 00°008°€€T 00°0 ‘ 00°00T*€S 00°0 00°00T‘€S 00°006'981 |
200v01Ch | Cam AMJJ uﬁ;:!?n 00005886 |00°0  JoooogLor 000 00°00€°L91 00"008'SSS N
100VOTTh | "= Fam sooym o=y — &0 [0~ |00°008'928'C 00°0 00"009'€TE'T 00°0 00"009'€TE'T 00°00%°0ST'S N
POITY ["=F {2 forepy 3cs — oo 00°009'26€'E 00°0 00°000'v¥S'T 00°0 00"000't¥S'T 00°009'9€6'S
1Tl |~ €2 ﬂ_qd?;a 00°009°C6£°€ 000 %.ooo_vvm.w 00°0 00°000'+¥S'T 00°009°9€6'S
T |7 (2 € (koo 00°1L9'709'E 000 00"0v0'L65'T 000 00°0+0'L6S'T 00 T1L'T0T9
veIv | (s gty (o5 < e 00°000'% 000 00"000'% 00°000'%
€TTP | v K2 e  Jovoss 00°0 00°068°L 00°068'L
% ey D (> 00°008

w0 a2 : 10/01/¥C0T

i a2 1¢/c1/veoc

®Eve: 9/

M2 o\ /vr/oara

3

D vy Arelsy GiRTTe

: youerg



i -~

60c0cTy

Rt

0 a2 : 10/01/v20C

i a2 : 1¢/T1/veoe

7
e
3 96"0SS'LLO'Y 96°0SS'LLO'Y  |¥8°800'8TH'E 8°800'8CH'E O CeT o0 e——leocet 00T |65°906'6L0  |65-906°6L0'L
T10€0€Th B> 00°000°Z€ 00°0 00"000°2€
C0ETY | =T K2 [ =y, |mefey 00"000°CE 000 00"000°CE
00°986'7 000 000 00°299'T 00°859°9

vy

Lt
MR o\ /vr/oara

31

L\ WA&J.W ...qd«Ww ﬂmﬂgm

: youelg



